Z6

25B1260 (3CG1260)

fE PNP S {K=4RE/SILICON PNP TRANSISTOR

Hig: HT—BIhFEBOK.
Purpose: Power amplifier applications.

LR, ORER LT, M PAAG, 15 2SD1898 (3DG1898) H %h.

Features: High breakdown voltage, good hm linearity, low Veeay, complements
the 2SD1898(3DG1898).
PR 240 /Absolute maximum ratings (Ta=25°C)
Y] R —
Symbol Rating Unit T, e SAT: om
Voo R iE -
VCEO 780 V BIC E 0: {Et-g‘l
B NEIEE R
Vo 5.0 v H‘H’I - 3000
I, -1.0 A S ,:rc T
bl =
*Lep -2.0 A i L T5em
*%P, 0.5 W "o m %n\
K 1
+Pe 2.0 ‘g S: 1:B 2:C 3:E
T; 150 [
SOT-
T —-55~150 C 89
*Single pulse Pw=100ms: Wk#FIAR, Fk5% 100ms.
skmounted on 40X40X0. 7mm ceramic board: ZHET 40X 40X0. 7m [KIFEE F.
HF: B2 4 /Electrical characteristics (Ta=25°C)
AL
SR M2 Rating HALA
Symbol Test condition 5 /IME LA N Unit
Min Typ Max
VCBO IC:750 H A IEZO 780 V
VCEO IC:_I. OmA IBZO _80 V
VEBO IE:_BO 9 A ICZO _5. O V
ICBO VCB:_6OV IEZO _1. 0 9 A
IEBO VEB:_4I- OV ICZO _].. O u A
hFE VCE:_B. OV ICZ_O. 1A 82 390
Ve san) I~=-500mA I7=—50mA -0.4 V
1 Ve=—b5.0V I,=50mA f=30MHz 100 MHz
Cop V=10V I=0 f=1. OMHz 25 pF
hie 7084 B 3% /heClassifications. Marking:
hee 2384 /he: Classifications P Q R
hee Y [/ B Range 82~180 120~270 180~390
E[l &% /Marking HBHP } HBHQ HBHR ¥
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25B1260 (3CG1260)
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